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SECTION 1: THE BACKGROUND

Question 1
Use Resource 1.

(@) How many people in the world are moving at any time?

[1]

(b) Name the two continents that are responsible for over 80% of the international movement of
people.

[2]

(c) Is international movement expected to increase or decrease by 20507

[1]

(d) Give two reasons why more people are moving around.

Reason 1

Reason 2

[2]

[Total: 6]
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Question 2

Use Resources 2 and 3 and your own knowledge.

(a)

(b)

(c)

(d)

© OCR 2007

Which group of vehicles is predicted to increase most in number between 1990 and 2100
worldwide?

[1]

China has the fastest growing car industry in the world.
State one problem that this might create.

[1]

Give two reasons why traffic levels have increased in the UK.

Reason 1

Reason 2

[4]

Give one reason why people think traffic congestion is more serious in towns than on
motorways.

[2]

[Total: 8]
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Question 3
Use Resources 4 and 5.
(a) State two reasons for the increase in air transport.

Reason 1

Reason 2

[2]

(b) Choose two negative impacts of increased travel from Resource 5.
Explain how they might affect people and/or the environment.

Impact 1

Explanation 1

Impact 2

Explanation 2

[4]

[Total: 6]

Section One: 20 marks
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Question 4

Use Resource 6.

5

SECTION 2: THE OPTIONS

Explain how two of the options used by cities around the world may be considered sustainable.

Option 1

Explanation

Option 2

Explanation

[6]
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Question 5
Use Resource 7 and your own knowledge.

(a) State two different ways in which the BedZED EcoVillage Development has decreased
people’s dependency on private cars.

1.

[2]

(b) For one of these ways explain how it would be sustainable.

Chosen way

Explanation

[4]

[Total: 6]
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Question 6
Use Resource 8 and your own knowledge.
Choose two options from Resource 8.
Describe the advantages and disadvantages of each for people and the environment.

(i) Option 1

Advantages

Disadvantages

[4]
(ii) Option 2
Advantages
Disadvantages
[4]
[Total: 8]

Section Two: 20 marks
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SECTION 3: THE DECISION

Question 7

Use Resources 9, 10 and 11, plus any other resources and your own knowledge.

The Thames Gateway faces the challenge of creating a sustainable transport plan for the 21st century.
They need to work with existing local authorities, transport pressure groups, businesses and local
communities to make this new development a success.

In the most densely populated area of the country a successful mix of public and private transport
schemes must be coordinated if the city and the 2012 Olympics are to succeed.

You have to consider the following options for transport in the Thames Gateway:

Option A: Build an efficient and coordinated public transport system, including Fastrack and Crossralil
throughout the region.

Option B: Encourage local businesses and communities to take the initiative and set up schemes such
as car sharing, cycling and teleworking.

Option C: Extend the current use of congestion charging and toll roads to cover a larger proportion of
the area giving exemptions for ‘ecofriendly’ vehicles.

(@) Which option do you think is best for people and the environment?

My chosen option is

Give reasons for your choice.
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[8]

(b) Identify any disadvantages of your chosen option in (a)

[4]
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(c) Give reasons for not choosing each of the other two options

Option is second choice because:

Option is third choice because:
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[8]

Section Three: 20 marks

TOTAL MARKS FOR PAPER 60
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If you use this lined page to complete an answer to any question, the question number MUST be
clearly shown.
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